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GROUP I MAIN - 2023 
 

LCM AND HCF WORKSHEET 
 

1. a. Find the LCM and HCF of 6 and 20  
  6 kw;Wk; 20 Mfpa vz;fspd; kP.ngh.k kw;Wk; kP.ngh.t fhz;f 
 
b. Three number are in the ration of 3 : 4 : 5 and their LCM is 2400. Their HCF is 
  %d;W vz;fpspd; tpfpjq;fs; KiwNa 3 : 4 : 5 mjd; kP.ngh.k 2400 kP.ngh.t fhz;f 
 

2. a. Find the LCM of 10 2 2(9 6 )x xy y+ + , 2 212(3 5 2 ),x xy y− −  4 314(6 2 )x x+  

     10(9𝑥2 + 6𝑥𝑦 + 𝑦2), 2 212(3 5 2 ),x xy y− −  4 314(6 2 )x x+  kP.ngh.k fhz;f. 

 

b. The LCM and HCF of two polynomials are 6 1x − and x + 1 respectively. If one of the    
     polynomial is 𝑥3 + 1  then the other polynomial is 
  ,U gy;YWg;Gf; Nfhitfspd; kP.ngh.k (LCM) kw;Wk; kP.ngh.t (HCF) Mfpad   

  KiwNa 6 1x −  kw;Wk; x + 1 MFk;. xU Nfhit 𝑥3 + 1 vdpy; kw;nwhU Nfhit vJ?  
 

3. a. Find the greatest number less than 10,000 which is exactly divisible by 48, 60 and 64. 
  48> 60 kw;Wk; 64 Mfpa vz;fshy; kpfr; rupahf tFgLk;> 10000 I tpl Fiwe;j kpfg;   
  nghpa vz;izf; fhz;f. 
 
b. Find the smallest 5 digit number exactly divisible by 16, 24, 36 and 54 
  16> 24> 36 kw;Wk; 54 Mfpa vz;fshy; kpfr; rupahf tFgLk; kpfr;rpwpa Ie;J ,yf;f  
  vz;izf; fhz;f: 
 

4. a. Find the largest number which divides 62, 132 and 237 to leave the same remainder  
     the each case  
  62> 132 kw;Wk; 237 vd;w vz;fis tFf;Fk; NghJ xt;nthU tiff;Fk; kPjp xNu  
  khjphpahf tUk; kpfg;nghpa vz;izf; fhz;f. 
 
b. Find the least number which when divided by 20, 25, 35 and 40 leaves remainders 14,  
    19, 29 and 34 respectively 
  20> 25> 35 kw;Wk; 40 vd;w vz;fis tFf;Fk; nghOJ 14> 19> 29 kw;Wk; 34 kPjp  
  nfhLf;Fk; kpfr; rpwa vz;izf; fhz;f. 
 

5. a. The traffic signal lights at three different road crossings change after every 36, 48, 64  
    seconds respectively. If they all change simultaneously at 7.30 hours then at what  
    time will they again change simultaneously? 
  %d;W NtWgl;l njU Kifspy; cs;s Nghf;Ftuj;J rpf;dy; tpsf;Ffs; KiwNa 36>    
  48> 64 tpdhbfspy; rpf;dy; khWfpd;wd. ,J %d;Wk; 7 kzp 30 epkplj;jpy; xd;W  
  Nghy khWk; vdpy; kWKiw ve;j kzpNeuj;jpy; %d;Wk; xd;W Nghy khWk; vd  
  fzf;fpLf. 
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b. The LCM of two numbers is 210 and their HCF is 14. How many such pairs are  
     possible? 
     ,uz;L vz;fspd; kP.ngh.k 210 kw;Wk; kP.ngh.t 14 vd ,Uf;FkhW vj;jid  
  N[hbfis cUthf;f KbAk;  
 

6. The LCM of two numbers 14 times of their HCF. The sum of LCM and HCF of those 
number is 600. If one number is 280 then find the other number. 
,U vz;fspd; kPr;rpW nghJklq;fhdJ mitfspd; kPg;ngU nghJ fhuzpapd; 14 
klq;fhFk;. kPr;rpW nghJklq;F kw;Wk; kPg;ngU nghJ fhuzpapd; $Ljy; 600 MFk;. xU 
vz;zhdJ 280 vdpy; kw;nwhU vz;izf; fhz;f. 
 

7. Find the HCF and LCM of 
8 10 32

,
9 27 81

and  

8 10 32
, ,

9 27 81
 Mfpatw;wpd; kP.ngh.t (HCF) kw;Wk; kP.ngh.k (LCM) fhz;f 

 

8. Find the GCD of polynomials 3 2 29 23 15,4 16 12x x x x x− + − − +  
3 2 29 23 15,4 16 12x x x x x− + − − +  vd;w gy;YWg;Gf; Nfhitapd; kP.ngh.t fhz;f. 

 
9. Find the GCD of 6𝑥3 − 30𝑥2 + 60𝑥 − 48 𝑎𝑛𝑑 3𝑥3 − 12𝑥2 + 21𝑥 − 18 

6𝑥3 − 30𝑥2 + 60𝑥 − 48 kw;Wk; 3𝑥3 − 12𝑥2 + 21𝑥 − 18-d; kP.ngh.t fhz;f 
 

10. The sum of three prime numbers is 80. The difference of two of them is 4. Find the 
number. 
%d;W gfh vz;fspd; $Ljy; 80> mtw;wpy; ,uz;L vz;fspd; tpj;jpahrk; 4 vdpy; me;j 
%d;W vz;fisf; fhz;f. 
 
 

 


